



State of West Virginia Request For Quotation Construction

Procurement Folder: 693954

Document Description : Ridge Hatchery Water Supply Modifications

Procurement Type : Agency Purchase Order

Date Issued	Solicitation Closes	Solicitation No		Version	Phase	
2020-02-25	2020-03-31 13:30:00	ARFQ	0310	DNR2000000038	1	Final

SUBMIT RESPONSES TO:			VENDOR
BID RESPONSE		· -	Vendor Name, Address and Telephone
DIVISION OF NATURAL RESOURCES			
PROPERTY & PROCUREMENT OFFICE			
324 4TH AVE			
SOUTH CHARLESTON	W	25303-1228	
US			

FOR INFORMATION CONTACT THE

James H Adkins (304) 558-3397 jamie.h.adkins@wv.gov

Signature X FEIN # DATE

FORM ID: WV-PRC-ARFQ-001

ADDITIONAL INFORMATION:

The West Virginia Division of Natural Resources is soliciting bids on behalf of Wildlife Section to establish a contract for repairs and modifications to be made to the water supply system at Ridge Hatchery located in Berkeley Springs, WV.

INVOICE TO	SHIP TO
DIVISION OF NATURAL RESOURCES PARKS & RECREATION-PEM SECTION	DIVISION OF NATURAL RESOURCES RIDGE HATCHERY
324 4TH AVE	12051 VALLEY RD
SOUTH CHARLESTON WV25305	BERKELEY SPRINGS WV 25411
US	US

Line	Commodity Line Description	Qty	Unit Issue	Unit Price	Total Price
1	Water main construction service				

Commodity Code	Manufacturer	Model #	Specification	
72141121				

Extended Description

Water main construction service

SCHEDULE	OF EVENTS	
Line	Event	Event Date
1	MANDATORY Pre-Bid Date at 10:00	2020-03-10
2	a.m. EST Technical Question Deadline at 9:00 a.m. EST	2020-03-17

Date Printed: Feb 24, 2020 Solicitation Number: DNR2000000038 Page: 2 FORM ID: WV-PRC-ARFQ-001

	Document Phase	Document Description	Page 3
DNR2000000038	Final	Ridge Hatchery Water Supply Modifications	of 3

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions



West Virginia Division of Natural Resources

INSTRUCTIONS TO VENDORS & AGENCY TERMS AND CONDITIONS

INSTRUCTIONS

- 1. REVIEW DOCUMENTS THOROUGHLY: The attached documents contain a solicitation for bids. Please read these instructions and all documents attached in their entirety. These instructions provide critical information about requirements that if overlooked could lead to disqualification of a Vendor's bid. All bids must be submitted in accordance with the provisions contained in these instructions and the Solicitation. Failure to do so may result in disqualification of a Vendor's bid.
- 2. MANDATORY TERMS: The Solicitation may contain mandatory provisions identified by the use of the words "must," "will," and "shall" which identify a mandatory item or requirement. Failure to comply with a mandatory term in the Solicitation will result in bid disqualification.

3. PREBID MEETING: The item identified below shall apply to this Solicitation.
A pre-bid meeting will <u>not</u> be held prior to bid opening.
A NON-MANDATORY pre-bid meeting will be held at the following place and time
A MANDATORY pre-bid meeting will be held at the following place and time:
Ridge State Fish Hatchery 59 Fish Hatchery Rd.
Berkeley Springs, WV 25411

Tuesday, March 10, 2020 at 10:00 a.m. EST

ALL Vendors submitting a bid must attend the mandatory pre-bid meeting. Failure to attend the mandatory pre-bid meeting shall result in disqualification of the Vendor's bid. No one person attending the pre-bid meeting may represent more than one Vendor.

An attendance sheet provided at the pre-bid meeting shall serve as the official document verifying attendance. The State will not accept any other form of proof or documentation to verify attendance. Any person attending the pre-bid meeting on behalf of a Vendor must list on the attendance sheet his or her name and the name of the Vendor he or she is representing.

Additionally, the person attending the pre-bid meeting should include the Vendor's e-mail address, phone number, and Fax number on the attendance sheet. It is the Vendor's responsibility to locate the attendance sheet and provide the required information. Failure to complete the attendance sheet as required may result in disqualification of Vendor's bid.

All Vendors should arrive prior to the starting time for the pre-bid. Vendors who arrive after the starting time but prior to the end of the pre-bid will be permitted to sign in, but are charged with knowing all matters discussed at the pre-bid.

Questions submitted at least five (5) business days prior to a scheduled pre-bid will be discussed at the pre-bid meeting if possible. Any discussions or answers to questions at the pre-bid meeting are preliminary in nature and are non-binding. Official and binding answers to questions will be published in a written addendum to the Solicitation prior to bid opening.

4. VENDOR QUESTION DEADLINE: Vendors may submit questions relating to this Solicitation to the Property and Procurement Office. Questions must be submitted in writing. All questions must be submitted on or before the date listed below and to the address listed below in order to be considered. A written response will be published in a Solicitation addendum if a response is possible and appropriate. Non-written discussions, conversations, or questions and answers regarding this Solicitation are preliminary in nature and are nonbinding.

Submitted e-mails should have solicitation number in the subject line.

Ouestion Submission Deadline: Tuesday, March 17, 2020 at 9:00 a.m. EST

Submit Questions to:

West Virginia Division of Natural Resources

Property and Procurement Office

Attention: Jamie Adkins South Charleston, WV 25303

Fax: (304) 558-2165

Email: Jamie.H.Adkins@wv.gov

5. VERBAL COMMUNICATION: Any verbal communication between the Vendor and any State personnel is not binding, including verbal communication at the mandatory pre-bid conference. Only information issued in writing and added to the Solicitation by an official written addendum by the Property and Procurement Office is binding.

6. BID SUBMISSION: All bids must be submitted electronically through wvOASIS or signed and delivered by the Vendor to the Property and Procurement Office at the address listed below on or before the date and time of the bid opening. Any bid received by the Property and Procurement Office is considered to be in the possession of the Office and will not be returned for any reason. Acceptable delivery methods include electronic submission via wvOASIS, hand delivery, delivery by courier, or facsimile.

The bid delivery address is:

West Virginia Division of Natural Resources Property and Procurement Office 324 4th Avenue South Charleston, WV 25303

A bid that is not submitted electronically through wvOASIS should contain the information listed below on the face of the envelope or the bid may be rejected by the West Virginia Division of Natural Resources.:

SEALED BID:

BUYER: Jamie Adkins

SOLICITATION NUMBER: ARFQ DNR20*38 BID CLOSING DATE: Tuesday, March 31, 2020

BIDCLOSING TIME: 1:30 p.m. EST FAX NUMBER: 304-558-2165

The Property and Procurement Office may prohibit the submission of bids electronically through wvOASIS at its sole discretion. Such a prohibition will be contained and communicated in the wvOASIS system resulting in the Vendor's inability to submit bids through wvOASIS. Submission of a response to an Expression or Interest or Request for Proposal is not permitted in wvOASIS.

For Agency Request for Proposal ("ARFP") Responses Only: In the event that Vendor is responding to a request for proposal, the Vendor shall submit one original technical and one original cost proposal plus convenience copies of each to the Property and Procurement Office at the address shown above. Additionally, the Vendor should identify the bid type as either a technical or cost proposal on the face of each bid envelope submitted in response to a request for proposal as follows:
BID TYPE:

7. BID OPENING: Bids submitted in response to this Solicitation will be opened at the location identified below on the date and time listed below. Delivery of a bid after the bid opening date and time will result in bid disqualification. For purposes of this Solicitation, a bid is considered delivered when confirmation of delivery is provided by wvOASIS (in the case of electronic submission) or when the bid is time stamped by the official Property and Procurement Office time clock (in the case of hand delivery).

Bid Opening Date and Time: Tuesday, March 31, 2020 at 1:30 p.m. EST

Bid Opening Location: West Virginia Division of Natural Resources Property and Procurement Office 324 4th Avenue South Charleston, WV 25303

- **8.** ADDENDUM ACKNOWLEDGEMENT: Changes or revisions to this Solicitation will be made by an official written addendum issued by the Property and Procurement Office. Vendor should acknowledge receipt of all addenda issued with this Solicitation by completing an Addendum Acknowledgment Form, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.
- 9. BID FORMATTING: Vendor should type or electronically enter the information onto its bid to prevent errors in the evaluation. Failure to type or electronically enter the information may result in bid disqualification.
- 10. ALTERNATE MODEL OR BRAND: Unless the box below is checked, any model, brand, or specification listed in this Solicitation establishes the acceptable level of quality only and is not intended to reflect a preference for, or in any way favor, a particular brand or vendor. Vendors may bid alternates to a listed model or brand provided that the alternate is at least equal to the model or brand and complies with the required specifications. The equality of any alternate being bid shall be determined by the State at its sole discretion. Any Vendor bidding an alternate model or brand should clearly identify the alternate items in its bid and should include manufacturer's specifications, industry literature, and/or any other relevant documentation demonstrating the equality of the alternate items. Failure to provide information for alternate items may be grounds for rejection of a Vendor's bid.

This solicitation is based upon a standardized commodity established under W. Va. Code §5A-3-61. Vendors are expected to bid the standardized commodity identified. Failure to bid the standardized commodity will result in your firm's bid being rejected.

11. EXCEPTIONS AND CLARIFICATIONS: The Solicitation contains the specifications that shall form the basis of a contractual agreement. Vendor shall clearly mark any exceptions, clarifications, or other proposed modifications in its bid. Exceptions to, clarifications of, or

modifications of a requirement or term and condition of the Solicitation may result in bid disqualification.

- 12. COMMUNICATION LIMITATIONS: In accordance with West Virginia Division of Natural Resources Series IV Purchasing Guidelines and Procedures §6.6. communication with the State of West Virginia or any of its employees regarding this Solicitation during the solicitation, bid, evaluation or award periods, except through the Property and Procurement Office, is strictly prohibited without prior Property and Procurement Office approval. Property and Procurement Office approval for such communication is implied for all agency delegated and exempt purchases.
- **13. REGISTRATION:** Prior to Contract award, the apparent successful Vendor must be properly registered with the West Virginia Purchasing Division and must have paid the \$125 fee, if applicable.
- 14. UNIT PRICE: Unit prices shall prevail in cases of a discrepancy in the Vendor's bid.
- 15. PREFERENCE: Vendor Preference may be requested in purchases of motor vehicles or construction and maintenance equipment and machinery used in highway and other infrastructure projects. Any request for preference must be submitted in writing with the bid, must specifically identify the preference requested with reference to the applicable subsection of West Virginia Code §5A-3-37, and should include with the bid any information necessary to evaluate and confirm the applicability of the requested preference. A request form to help facilitate the request can be found at: http://www.state.wv.us/admin/purchase/vrc/Venpref.pdf.
- 14A. RECIPROCAL PREFERENCE: The State of West Virginia applies a reciprocal preference to all solicitations for commodities and printing in accordance with the W. Va. Code §5A-3-37(b). In effect, non-resident vendors receiving a preference in their home states will see that same preference granted to West Virginia resident vendors bidding against them in West Virginia. A request form to help facilitate the request can be found at: http://www.state.wv.us/admin/purchase/vrc/Venpref/pdf.
- 16. SMALL, WOMEN-OWNED, OR MINORITY-OWNED BUSINESSES: For any solicitations publicly advertised for bid, in accordance with W. Va. Code §5A-3-37(a)(7) and W. Va. Code R. § 148-22-9, any non-resident vendor certified as a small, women-owned, or minority owned business under W. Va. Code R. § 148-22-9 shall be provided the same preference made available to any resident vendor. Any non-resident small, women-owned, or minority-owned business must identify itself as such in writing, must submit that writing to the Property and Procurement Office with its bid, and must be properly certified under W. Va. Code R. § 148-22-9 prior to contract award to receive the preferences made available to resident vendors. Preference for a non-resident small, women-owned, or minority owned business shall be applied in accordance with W. Va. Code R. § 148-22-9.
- 17. WAIVER OF MINOR IRREGULARITIES: The Chief Procurement Officer reserves the right to waive minor irregularities in bids or specifications in accordance with West Virginia Division of Natural Resources Series IV Purchasing Guidelines and Procedures § 4.1.g.

- 18. ELECTRONIC FILE ACCESS RESTRICTIONS: Vendor must ensure that its submission in wvOASIS can be accessed and viewed by the Property and Procurement Office staff immediately upon bid opening. The Property and Procurement Office will consider any file that cannot be immediately accessed and viewed at the time of the bid opening (such as, encrypted files, password protected files, or incompatible files) to be blank or incomplete as context requires and are therefore unacceptable. A vendor will not be permitted to unencrypt files, remove password protections, or resubmit documents after bid opening to make a file viewable if those documents are required with the bid. A Vendor may be required to provide document passwords or remove access restrictions to allow the Property and Procurement Office to print or electronically save documents provided that those documents are viewable by the Property and Procurement Office prior to obtaining the password or removing the access restriction.
- 19. NON-RESPONSIBLE: The Chief Procurement Officer reserves the right to reject the bid of any vendor as Non-Responsible in accordance with West Virginia Division of Natural Resources Series IV Purchasing Guidelines and Procedures §5.5.a., when the Chief Procurement Officer determines that the vendor submitting the bid does not have the capability to fully perform, or lacks the integrity and reliability to assure good-faith performance.
- **20.** ACCEPTANCE/REJECTION: The Agency may accept or reject any bid in whole, or in part in accordance with West Virginia Division of Natural Resources Series IV Purchasing Guidelines and Procedures §4.1. f. and §6.4. b.
- **21. YOUR SUBMISSION IS A PUBLIC DOCUMENT:** Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of W. Va. Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act W. Va. Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET(S), OR OTHERWISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Property and Procurement Office constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Property and Procurement Office will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by W. Va. Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

22. INTERESTED PARTY DISCLOSURE: West Virginia Code § 6D-1-2 requires that the vendor submit to the Purchasing Division a disclosure of interested parties to the contract for all contracts with an actual or estimated value of at least \$1 Million. That disclosure must occur on the form prescribed and approved by the WV Ethics Commission prior to contract award. A copy of that form is included with this solicitation or can be obtained from the WV Ethics Commission. This requirement does not apply to publicly traded companies listed on a national or international stock exchange. A more detailed definition of interested parties can be obtained from the form referenced above.

23. WITH THE BID REQUIREMENTS: In instances where these specifications require documentation or other information with the bid, and a vendor fails to provide it with the bid, the Director of the Purchasing Division reserves the right to request those items after bid opening and prior to contract award pursuant to the authority to waive minor irregularities in bids or specifications under W. Va. CSR § 148-1-4.6. This authority does not apply to instances where state law mandates receipt with the bid.

AGENCY TERMS & CONDITIONS

- 1. CONTRACTUAL AGREEMENT: Issuance of an Award Document signed by the Chief Procurement Officer, or his or her designee, and approved as to form by the Attorney General's office constitutes acceptance of this Contract made by and between the State of West Virginia and the Vendor. Vendor's signature on its bid signifies Vendor's agreement to be bound by and accept the terms and conditions contained in this Contract.
- 2. **DEFINITIONS:** As used in this Solicitation/Contract, the following terms shall have the meanings attributed to them below. Additional definitions may be found in the specifications included with this Solicitation/Contract.
 - a. "Agency" means the West Virginia Division of Natural Resources.
 - b. "Bid" or "Proposal" means a vendor's submitted response to a solicitation.
 - c. "Contract" means the binding agreement that is entered into between the State and the Vendor to provide the goods or services requested in the Solicitation.
 - d. "Chief Procurement Officer" means the Chief Procurement Officer of the West Virginia Division of Natural Resources or anyone that the Chief Procurement Officer has designated to perform a specific task or function.
 - e. "Property and Procurement Office" means the unit within the West Virginia Division of Natural Resources' Administration Section headed by the Chief Procurement Officer and its personnel.
 - f. "Director of the Purchasing Division" means the Director of the West Virginia Department of Administration, Purchasing Division.
 - g. "Award Document" means the document signed by the Agency and the Property and Procurement Office and approved as to form by the Attorney General that identifies the Vendor as the contract holder.
 - h. "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Property and Procurement Office.
 - i. "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc. as context requires.
 - j. "Vendor" or "Vendors" means any entity submitting a bid in response to the Solicitation, the entity that has been selected as the lowest responsible bidder, or the entity that has been awarded the Contract as context requires.

k.				or requirement that is the posed to being directory or
	CT TERM; RENEWA ed in accordance with t			Contract shall be applicable to this Contract
[Ferm (Contract			
	ntract Term: This Cor r a period of			and
the Vendo (Attorney Property a term or ap conditions successive multiple re combined. Property	r, with approval of the Information of the Information of the Information of the Information of the Original Control of the Information of the Inf	Property and Procure to form only). Any thirty (30) days pro- n. A Contract renew ontract. Renewal r multiple renewal procured the total nu- of this Contract is fice approval is no	ement Office and the request for renewal ior to the expiration value shall be in according this Contract periods of less than amber of month average prohibited. Not work required on Se	one year, provided that the railable in all renewal years withstanding the foregoing, ction delegated or exempt
	Alternate Renewal successive not exceed the total Automatic renewal approved by the Ve Attorney General's of	number of months of this Contract ndor, Agency, Pro	shorter periods pro- contained in all ar- is prohibited. Re- perty and Procure	vided that they do vailable renewals. enewals must be ement Office and
may only by year of the	be issued during the tine expiration of this Con	ne this Contract is i tract shall be effect	n effect. Any delivive for one (1) yea	very orders, a delivery order very order issued within one or from the date the delivery er this Contract has expired.
	Period Contract: This and must be complete			endor's receipt of the notice
receipt of specification covered by	the notice to proceed and one must be completed	nd part of the Control within e, the vendor agree	act more fully desc days. Up s that maintenance	es effective upon Vendor's cribed in the attached pon completion of the work c, monitoring, or warranty
Document		s contracted for ha		the issuance of the Award, but in no event, will this
Other:	See attached.			

Revised 6/4/19

4. NOTICE TO PROCEED: Vendor shall begin performance of this Contract immediately upon receiving notice to proceed unless otherwise instructed by the Agency. Unless otherwise specified, the fully executed Award Document will be considered notice to proceed.
5. QUANTITIES: The quantities required under this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below.
Open-End Contract: Quantities listed in this Solicitation are approximations only, based on estimates supplied by the Agency. It is understood and agreed that the Contract shall cover the quantities actually ordered for delivery during the term of the Contract, whether more or less than the quantities shown.
Service: The scope of the service to be provided will be more clearly defined in the specifications included herewith.
Combined Service and Goods: The scope of the service and deliverable goods to be provided will be more clearly defined in the specifications included herewith.
One-Time Purchase: This Contract is for the purchase of a set quantity of goods that are identified in the specifications included herewith. Once those items have been delivered, no additional goods may be procured under this Contract without an appropriate change order approved by the Vendor, Agency, Property and Procurement Office and Attorney General's office.
6. EMERGENCY PURCHASES: The Chief Procurement Officer may authorize the Agency to purchase goods or services in the open market that Vendor would otherwise provide under this Contract if those goods or services are for immediate or expedited delivery in an emergency. Emergencies shall include, but are not limited to, delays in transportation or an unanticipated increase in the volume of work. An emergency purchase in the open market, approved by the Chief Procurement Officer, shall not constitute of breach of this Contract and shall not entitle the Vendor to any form of compensation or damages. This provision does not excuse the State from fulfilling its obligations under a One-Time Purchase contract.
7.REQUIRED DOCUMENTS: All of the items checked below must be provided to the Property and Procurement Office by the Vendor as specified below.
BID BOND (Construction Only): Pursuant to the requirements contained in W. Va. Code § 5-22-1(c), All Vendors submitting a bid on a construction project shall furnish a valid bid bond in the amount of five percent (5%) of the total amount of the bid protecting the State of West Virginia. The bid bond must be submitted with the bid.
PERFORMANCE BOND: The apparent successful Vendor shall provide a performance bond in the amount of 100% of the Contract value. The performance bond must be received by the Property and Procurement Office prior to Contract award.
LABOR/MATERIAL PAYMENT BOND: The apparent successful Vendor shall provide a labor/material payment bond in the amount of 100% of the Contract value. The labor/material payment bond must be delivered to the Property and Procurement Office prior to Contract award.

MAINTENANCE BOND: The apparent successful Vendor shall provide a two (2) year maintenance bond covering the roofing system. The maintenance bond must be issued and delivered to the Property and Procurement Office prior to Contract award.
LICENSE(S) / CERTIFICATIONS / PERMITS: In addition to anything required under the Section entitled Licensing, of the General Terms and Conditions, the apparent successful Vendor shall furnish proof of the following licenses, certifications, and/or permits prior to Contract award, in a form acceptable to the Property and Procurement Office.
West Virginia Contractors License
The apparent successful Vendor shall also furnish proof of any additional licenses or certifications contained in the specifications prior to Contract award regardless of whether or not that requirement is listed above.
8. INSURANCE: The apparent successful Vendor shall furnish proof of the insurance identified by a checkmark below prior to Contract award. Subsequent to contract award, and prior to the insurance expiration date, Vendor shall provide the Agency with proof that the insurance mandated herein has been continued. Vendor must also provide Agency with immediate notice of any changes in its insurance policies mandated herein, including but not limited to, policy cancelation, policy reduction, or change in insurers. The insurance coverages identified below must be maintained throughout the life of this contract. The apparent successful Vendor shall also furnish proof of any additional insurance requirements contained in the specifications prior to Contract award regardless of whether or not that insurance requirement is listed in this section.
Vendor must maintain:
Commercial General Liability Insurance in at least an amount of:
\$5,000,000
Automobile Liability Insurance in at least an amount of: \$500,000
Professional/Malpractice/Errors and Omission Insurance in at least an amount of:
Commercial Crime and Third-Party Fidelity Insurance in an amount of:

Cyber Liability Insurance in an amount of:
Builders Risk Insurance in an amount equal to 100% of the amount of the Contract.
Other
Notwithstanding anything contained in this section to the contrary, the Chief Procurement Officer reserves the right to waive the requirement that the Agency be named as an additional insured on one or more of the Vendor's insurance policies if the Chief Procurement Officer finds that doing so is in the best interest of the Agency.
9. WORKERS' COMPENSATION INSURANCE: The apparent successful Vendor shall comply with laws relating to workers' compensation, shall maintain workers' compensation insurance when required, and shall furnish proof of workers' compensation insurance upon request.
10 LIQUIDATED DAMAGES: This clause shall in no way be considered exclusive and shall not limit the State or Agency's right to pursue any other available remedy. Vendor shall pay liquidated damages in the amount specified below or as described in the specifications:
\$250 for each day beyond the contract completion date
Liquidated Damages Contained in the Specifications
11. ACCEPTANCE: Vendor's signature on its bid, or on the certification and signature page,

- 11. ACCEPTANCE: Vendor's signature on its bid, or on the certification and signature page, constitutes an offer to the State that cannot be unilaterally withdrawn, signifies that the product or service proposed by vendor meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise indicated, and signifies acceptance of the terms and conditions contained in the Solicitation unless otherwise indicated.
- 12. PRICING: The pricing set forth herein is firm for the life of the Contract, unless specified elsewhere within this Solicitation/Contract by the State. A Vendor's inclusion of price adjustment provisions in its bid, without an express authorization from the State in the Solicitation to do so, may result in bid disqualification. Notwithstanding the foregoing, Vendor must extend any publicly advertised sale price to the State and invoice at the lower of the contract price or the publicly advertised sale price.
- 13. PAYMENT IN ARREARS: Payment in advance is prohibited under this Contract. Payment may only be made after the delivery and acceptance of goods or services. The Vendor shall submit invoices, in arrears.
- 14. PAYMENT METHODS: Vendor must accept payment by electronic funds transfer and P-card. (The State of West Virginia's Purchasing Card program, administered under contract by a banking institution, processes payment for goods or through the state designated credit cards.)
- 15. TAXES: The Vendor shall pay any applicable sales, use, personal property or any other taxes arising out of this Contract and the transactions contemplated thereby. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 16. ADDITIONAL FEES: Vendor is not permitted to charge additional fees or assess additional charges that were not either expressly provided for in the solicitation published by the State of West Virginia or included in the unit price or lump sum bid amount that Vendor is required by the

solicitation to provide. Including such fees or charges as notes to the solicitation may result in rejection of vendor's bid. Requesting such fees or charges be paid after the contract has been awarded may result in cancellation of the contract.

- 17. FUNDING: This Contract shall continue for the term stated herein, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise made available, this Contract becomes void and of no effect beginning on July 1 of the fiscal year for which funding has not been appropriated or otherwise made available.
- 18. CANCELLATION: The Chief Procurement Officer reserves the right to cancel this Contract immediately upon written notice to the vendor if the materials or workmanship supplied do not conform to the specifications contained in the Contract. The Chief Procurement Office may also cancel any purchase or Contract upon thirty (30) days written notice to the Vendor in accordance with West Virginia Division of Natural Resources Series IV Purchasing Guidelines and Procedures, § 5.2.
- 19. TIME: Time is of the essence with regard to all matters of time and performance in this Contract.
- 20. APPLICABLE LAW: This Contract is governed by and interpreted under West Virginia law without giving effect to its choice of law principles. Any information provided in specification manuals, or any other source, verbal or written, which contradicts or violates the West Virginia Constitution, West Virginia Code or West Virginia Code of State Rules is void and of no effect.
- 21. COMPLIANCE WITH LAWS: Vendor shall comply with all applicable federal, state, and local laws, regulations and ordinances. By submitting a bid, Vendor acknowledges that it has reviewed, understands, and will comply with all applicable laws, regulations, and ordinances.

SUBCONTRACTOR COMPLIANCE: Vendor shall notify all subcontractors providing commodities or services related to this Contract that as subcontractors, they too are required to comply with all applicable laws, regulations, and ordinances. Notification under this provision must occur prior to the performance of any work under the contract by the subcontractor.

- 22. ARBITRATION: Any references made to arbitration contained in this Contract, Vendor's bid, or in any American Institute of Architects documents pertaining to this Contract are hereby deleted, void, and of no effect.
- 23. MODIFICATIONS: This writing is the parties' final expression of intent. Notwithstanding anything contained in this Contract to the contrary no modification of this Contract shall be binding without mutual written consent of the Agency, and the Vendor, with approval of the Property and Procurement Office and the Attorney General's office (Attorney General approval is as to form only). Any change to existing contracts that adds work or changes contract cost, and were not included in the original contract, must be approved by the Property and Procurement Office and the Attorney General's Office (as to form) prior to the implementation of the change or commencement of work affected by the change.
- 24. WAIVER: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or

remedy, but the same shall continue in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.

- 25. SUBSEQUENT FORMS: The terms and conditions contained in this Contract shall supersede any and all subsequent terms and conditions which may appear on any form documents submitted by Vendor to the Agency such as price lists, order forms, invoices, sales agreements, or maintenance agreements, and includes internet websites or other electronic documents. Acceptance or use of Vendor's forms does not constitute acceptance of the terms and conditions contained thereon.
- **26. ASSIGNMENT:** Neither this Contract nor any monies due, or to become due hereunder, may be assigned by the Vendor without the express written consent of the Agency, the Property and Procurement Office, the Attorney General's office (as to form only), and any other government agency or office that may be required to approve such assignments.
- 27. WARRANTY: The Vendor expressly warrants that the goods and/or services covered by this Contract will: (a) conform to the specifications, drawings, samples, or other description furnished or specified by the Agency; (b) be merchantable and fit for the purpose intended; and (c) be free from defect in material and workmanship.
- **28. STATE EMPLOYEES:** State employees are not permitted to utilize this Contract for personal use and the Vendor is prohibited from permitting or facilitating the same.
- **29. BANKRUPTCY:** In the event the Vendor files for bankruptcy protection, the State of West Virginia may deem this Contract null and void and terminate this Contract without notice.
- 30. PRIVACY, SECURITY, AND CONFIDENTIALITY: The Vendor agrees that it will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the Agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the Agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/default.html.
- 31. YOUR SUBMISSION IS A PUBLIC DOCUMENT: Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of W. Va. Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act W. Va. Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET, OR OTHERWISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Property and Procurement Office constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Property and Procurement Office will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by W. Va. Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

32. LICENSING: In accordance with West Virginia Division of Natural Resources Series IV Purchasing Guidelines and Policies, §6.1.d.1., Vendor must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agency or political subdivision. Upon request, the Vendor must provide all necessary releases to obtain information to enable the Property and Procurement Office's Chief Procurement Officer or the Agency to verify that the Vendor is licensed and in good standing with the above entities.

SUBCONTRACTOR COMPLIANCE: Vendor shall notify all subcontractors providing commodities or services related to this Contract that as subcontractors, they too are required to be licensed, in good standing, and up-to-date on all state and local obligations as described in this section. Obligations related to political subdivisions may include, but are not limited to, business licensing, business and occupation taxes, inspection compliance, permitting, etc. Notification under the provision must occur prior to performance of any work under the contract by the subcontractor.

- 33. ANTITRUST: In submitting a bid to, signing a contract with, or accepting an Award Document from any agency of the State of West Virginia, the Vendor agrees to convey, sell, assign, or transfer to the State of West Virginia all rights, title, and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to Vendor.
- 34. VENDOR CERTIFICATIONS: By signing its bid or entering into this Contract, Vendor certifies (1) that its bid or offer was made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, person or entity submitting a bid or offer for the same material, supplies, equipment or services; (2) that its bid or offer is in all respects fair and without collusion or fraud; (3) that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; and (4) that it has reviewed this Solicitation in its entirety; understands the requirements, terms and conditions, and other information contained herein.

Vendor's signature on its bid or offer also affirms that neither it nor its representatives have any interest, nor shall acquire any interest, direct or indirect, which would compromise the performance of its services hereunder. Any such interests shall be promptly presented in detail to the Agency. The individual signing this bid or offer on behalf of Vendor certifies that he or she is authorized by the Vendor to execute this bid or offer or any documents related thereto on Vendor's behalf; that he or she is authorized to bind the Vendor in a contractual relationship; and that, to the best of his or her knowledge, the Vendor has properly registered with any State agency that may require registration.

35. VENDOR RELATIONSHIP: The relationship of the Vendor to the State shall be that of an independent contractor and no principal-agent relationship or employer-employee relationship is contemplated or created by this Contract. The Vendor as an independent contractor is solely liable for the acts and omissions of its employees and agents. Vendor shall be responsible for selecting, supervising, and compensating any and all individuals employed pursuant to the terms of this Solicitation and resulting contract. Neither the Vendor, nor any employees or subcontractors of the

Vendor, shall be deemed to be employees of the State for any purpose whatsoever. Vendor shall be exclusively responsible for payment of employees and contractors for all wages and salaries, taxes, withholding payments, penalties, fees, fringe benefits, professional liability insurance premiums, contributions to insurance and pension, or other deferred compensation plans, including but not limited to, Workers' Compensation and Social Security obligations, licensing fees, etc. and the filing of all necessary documents, forms, and returns pertinent to all of the foregoing.

Vendor shall hold harmless the State and shall provide the State and Agency with a defense against any and all claims including, but not limited to, the foregoing payments, withholdings, contributions, taxes, Social Security taxes, and employer income tax returns.

- **36. INDEMNIFICATION:** The Vendor agrees to indemnify, defend, and hold harmless the State and the Agency, their officers, and employees from and against: (1) Any claims or losses for services rendered by any subcontractor, person, or firm performing or supplying services, materials, or supplies in connection with the performance of the Contract; (2) Any claims or losses resulting to any person or entity injured or damaged by the Vendor, its officers, employees, or subcontractors by the publication, translation, reproduction, delivery, performance, use, or disposition of any data used under the Contract in a manner not authorized by the Contract, or by Federal or State statutes or regulations; and (3) Any failure of the Vendor, its officers, employees, or subcontractors to observe State and Federal laws including, but not limited to, labor and wage and hour laws.
- 37. PURCHASING AFFIDAVIT: In accordance with West Virginia Code §5A-3-10a and 5-22-1(i), the State is prohibited from awarding a contract to any bidder that owes a debt to the State or to a political subdivision of the State. Vendors are required to sign, notarize, and submit the Purchasing Affidavit to the Agency affirming under oath that it is not in default on any monetary obligation owed to the State or a political subdivision of the State.
- 38. ADDITIONAL AGENCY AND LOCAL GOVERNMENT USE: This Contract may be utilized by other agencies, spending units, and political subdivisions of the State of West Virginia; county, municipal, and other local government bodies; and school districts ("Other Government Entities"). Any extension of this Contract to the aforementioned, Other Government Entities must be on the same prices, terms, and conditions as those offered and agreed to in this Contract, provided that such extension is in compliance with the applicable laws, rules, and ordinances of the Other Government Entity. If the Vendor does not wish to extend the prices, terms, and conditions of its bid and subsequent contract to the Other Government Entities, the Vendor must clearly indicate such refusal in its bid. A refusal to extend this Contract to the Other Government Entities shall not impact or influence the award of this Contract in any manner.
- **39. CONFLICT OF INTEREST:** Vendor, its officers or members or employees, shall not presently have or acquire an interest, direct or indirect, which would conflict with or compromise the performance of its obligations hereunder. Vendor shall periodically inquire of its officers, members, and employees to ensure that a conflict of interest does not arise. Any conflict of interest discovered shall be promptly presented in detail to the Agency.
- **40. REPORTS:** Vendor shall provide the Agency with the following reports identified by a checked box below:

✓	Such rep	orts as the	Agency	may request.	Requeste	d reports	may in	clude, bu	are no	t limited
to	, quantities	s purchased,	agencies	utilizing the	contract,	total conti	ract exp	enditures	by ager	icy, etc.

	Quarterly reports	detailing t	he total	quantity	of purchase	s in	units	and	dollars,	along	with	a
lis	ting of purchases b	y agency.										

- 41. PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS: Except when authorized by the Director of the Purchasing Division pursuant to W. Va. Code § 5A-3-56, no contractor may use or supply steel products for a State Contract Project other than those steel products made in the United States. A contractor who uses steel products in violation of this section may be subject to civil penalties pursuant to W. Va. Code § 5A-3-56. As used in this section:
 - a. "State Contract Project" means any erection or construction of, or any addition to, alteration of or other improvement to any building or structure, including, but not limited to, roads or highways, or the installation of any heating or cooling or ventilating plants or other equipment, or the supply of and materials for such projects, pursuant to a contract with the State of West Virginia for which bids were solicited on or after June 6, 2001.
 - **b.** "Steel Products" means products rolled, formed, shaped, drawn, extruded, forged, cast, fabricated or otherwise similarly processed, or processed by a combination of two or more or such operations, from steel made by the open heath, basic oxygen, electric furnace, Bessemer or other steel making process. The Purchasing Division Director may, in writing, authorize the use of foreign steel products if:
 - c. The cost for each contract item used does not exceed one tenth of one percent (.1%) of the total contract cost or two thousand five hundred dollars (\$2,500.00), whichever is greater. For the purposes of this section, the cost is the value of the steel product as delivered to the project; or
 - d. The Director of the Purchasing Division determines that specified steel materials are not produced in the United States in sufficient quantity or otherwise are not reasonably available to meet contract requirements.
- 42. PREFERENCE FOR USE OF DOMESTIC ALUMINUM, GLASS, AND STEEL: In accordance with W. Va. Code § 5-19-1 et seq., and W. Va. CSR § 148-10-1 et seq., for every contract or subcontract, subject to the limitations contained herein, for the construction, reconstruction, alteration, repair, improvement or maintenance of public works or for the purchase of any item of machinery or equipment to be used at sites of public works, only domestic aluminum, glass or steel products shall be supplied unless the spending officer determines, in writing, after the receipt of offers or bids, (1) that the cost of domestic aluminum, glass or steel products is unreasonable or inconsistent with the public interest of the State of West Virginia, (2) that domestic aluminum, glass or steel products are not produced in sufficient quantities to meet the contract requirements, or (3) the available domestic aluminum, glass, or steel do not meet the contract specifications. This provision only applies to public works contracts awarded in amount more than fifty thousand dollars (\$50,000) or public works contracts that require more than ten thousand pounds of steel products.

The cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than twenty percent (20%) of the bid or offered price for foreign made aluminum, glass, or steel products. If the domestic aluminum, glass or steel products to be supplied or produced in a "substantial labor surplus area", as defined by the United States Department of Labor, the cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than thirty percent (30%) of the bid or offered price for foreign made aluminum, glass, or steel products.

This preference shall be applied to an item of machinery or equipment, as indicated above, when the item is a single unit of equipment or machinery manufactured primarily of aluminum, glass or steel, is part of a public works contract and has the sole purpose or of being a permanent part of a single public works project. This provision does not apply to equipment or machinery purchased by a spending unit for use by that spending unit and not as part of a single public works project.

All bids and offers including domestic aluminum, glass or steel products that exceed bid or offer prices including foreign aluminum, glass or steel products after application of the preferences provided in this provision may be reduced to a price equal to or lower than the lowest bid or offer price for foreign aluminum, glass or steel products plus the applicable preference. If the reduced bid or offer prices are made in writing and supersede the prior bid or offer prices, all bids or offers, including the reduced bid, or offer prices, will be reevaluated in accordance with this rule.

43. INTERESTED PARTY SUPPLEMENTAL DISCLOSURE: W. Va. Code § 6D-1-2 requires that for contracts with an actual or estimated value of at least \$1 million, the vendor must submit to the Agency a supplemental disclosure of interested parties reflecting any new or differing interested parties to the contract, which were not included in the original preaward interested party disclosure, within 30 days following the completion or termination of the contract. A copy of that form is included with this solicitation or can be obtained from the WV Ethics Commission. This requirement does not apply to publicly traded companies listed on a national or international stock exchange. A more detailed definition of interested parties can be obtained from the form referenced above.

ADDITIONAL TERMS AND CONDITIONS (Construction Contracts Only)

I. CONTRACTOR'S LICENSE: W. Va. Code § 21-11-2 requires that all persons desiring to perform contracting work in this state be licensed. The West Virginia Contractors Licensing Board is empowered to issue the contractor's license. Applications for a contractor's license may be made by contacting the West Virginia Division of Labor. W. Va. Code § 21-11-11 requires any prospective Vendor to include the contractor's license number on its bid. If an apparent low bidder fails to submit a license number in accordance with this section, the Property and Procurement Office will promptly request by telephone and electronic mail that the low bidder and the second low bidder provide the license number within one business day of the request. Failure of the bidder to provide the license number within one business day of receiving the request shall result in disqualification of the bid. Vendors should include a contractor's license number in the space provided below.

Contractor's Name:	Harbel, Inc.			
Contractor's License No.: '	WV-	WV000349	 	

The apparent successful Vendor must furnish a copy of its contractor's license prior to the issuance of a contract award document.

- 2. DRUG-FREE WORKPLACE AFFIDAVIT: W. Va. Code § 21-1D-5 provides that any solicitation for a public improvement contract requires each Vendor that submits a bid for the work to submit an affidavit that the Vendor has a written plan for a drug-free workplace policy. If the affidavit is not submitted with the bid submission, the Property and Procurement Office shall promptly request by telephone and electronic mail that the low bidder and second low bidder provide the affidavit within one business day of the request. Failure to submit the affidavit within one business day of receiving the request shall result in disqualification of the bid. To comply with this law, Vendor should complete the enclosed drug-free workplace affidavit and submit the same with its bid. Failure to submit the signed and notarized drugfree workplace affidavit or a similar affidavit that fully complies with the requirements of the applicable code, within one (1) business day of being requested to do so shall result in disqualification of Vendor's bid. Pursuant to W. Va. Code 21-1D-2(b) and (k), this provision does not apply to public improvement contracts the value of which is \$100,000 or less or temporary or emergency repairs.
- 2.1. DRUG-FREE WORKPLACE POLICY: Pursuant to W. Va. Code § 21-1D-4, Vendor and its subcontractors must implement and maintain a written drug-free workplace policy that complies with said article. The awarding public authority shall cancel this contract if: (1) Vendor fails to implement and maintain a written drug-free workplace policy described in the preceding paragraph, (2) Vendor fails to provide information regarding implementation of its drug-free workplace policy at the request of the public authority; or (3) Vendor provides to the public authority false information regarding the contractor's drug-free workplace policy.

Pursuant to W. Va. Code 21-1D-2(b) and (k), this provision does not apply to public improvement contracts the value of which is \$100,000 or less or temporary or emergency repairs.

3. DRUG FREE WORKPLACE REPORT: Pursuant to W. Va. Code § 21-1D-7b, no less than once per year, or upon completion of the project, every contractor shall provide a certified report to the public authority which let the contract. For contracts over \$25,000, the public authority shall be

the Property and Procurement Office. For contracts of \$25,000 or less, the public authority shall be the agency section issuing the contract. The report shall include:

- (1) Information to show that the education and training service to the requirements of W. Va. Code § 21-1D-5 was provided;
- (2) The name of the laboratory certified by the United States Department of Health and Human Services or its successor that performs the drug tests;
- (3) The average number of employees in connection with the construction on the public improvement;
- (4) Drug test results for the following categories including the number of positive tests and the number of negative tests: (A) Pre-employment and new hires; (B) Reasonable suspicion; (C) Postaccident; and (D) Random.

Vendor should utilize the attached Certified Drug Free Workplace Report Coversheet when submitting the report required hereunder. Pursuant to W. Va. Code 21-1D-2(b) and (k), this provision does not apply to public improvement contracts the value of which is \$100,000 or less or temporary or emergency repairs.

- **4. AIA DOCUMENTS:** All construction contracts that will be completed in conjunction with architectural services procured under Chapter 5G of the W. Va. Code will be governed by the attached AIS documents, as amended by the Supplementary Conditions for the State of West Virginia, in addition to the terms and conditions contained herein.
- 4A. PROHIBITION AGAINST GENERAL CONDITIONS: Notwithstanding anything contained in the AIA Documents or the Supplementary Conditions, the State of West Virginia will not pay for general conditions, or winter conditions, or any other condition representing a delay in the contract. The Vendor is expected to mitigate delay costs to the greatest extent possible and any costs associated with Delays must be specifically and concretely identified. The state will not consider an average daily rate multiplied by the number of days extended to be an acceptable charge.
- 5. GREEN BUILDINGS MINIMUM ENERGY STANDARDS: In accordance with W. Va. Code § 22-29-4, all new building construction projects of public agencies that have not entered the schematic design phase prior to July 1, 2012, or any building construction project receiving state grant funds and appropriations, including public schools, that have not entered the schematic design phase prior to July 1, 2012, shall be designed and constructed complying with the ICC International Energy Conservation Code, adopted by the State Fire Commission, and the ANSI/ASHRAE/IESNA Standard 90.1-2007: Provided, That if any construction project has a commitment of federal funds to pay for a portion of such project, this provision shall only apply to the extent such standards are consistent with the federal standards.
- 6. LOCAL LABOR MARKET HIRING REQUIREMENT: Pursuant to West Virginia Code §21-1C-1 et seq., Employers shall hire at least seventy-five percent of employees for public improvement construction projects from the local labor market, to be rounded off, with at least two employees from outside the local labor market permissible for each employer per project.

Any employer unable to employ the minimum number of employees from the local labor market shall inform the nearest office of the bureau of employment programs' division of employment services of the number of qualified employees needed and provide a job description of the positions to be filled.

If, within three business days following the placing of a job order, Workforce West Virginia is unable to refer any qualified job applicants to the employer or refers less qualified job applicants than the number requested, then Workforce West Virginia shall issue a waiver to the employer stating the unavailability of applicant and shall permit the employer to fill any positions covered by the waiver from outside the local labor market. The waiver shall be in writing and shall be issued within the prescribed three days. A waiver certificate shall be sent to both the employer for its permanent project records and to the public authority.

Any employer who violates this requirement is subject to a civil penalty of \$250 per each employee less than the required threshold of seventy-five percent per day of violation after receipt of a notice of violation.

Any employer that continues to violate any provision of this article more than fourteen calendar days after receipt of a notice of violation is subject to a civil penalty of \$500 per each employee less than the required threshold of seventy-five percent per day of violation.

The following terms used in this section have the meaning shown below.

- (1) The term "construction project" means any construction, reconstruction, improvement, enlargement, painting, decorating or repair of any public improvement let to contract in an amount equal to or greater than \$500,000. The term "construction project" does not include temporary or emergency repairs;
- (2) The term "employee" means any person hired or permitted to perform hourly work for wages by a person, firm or corporation in the construction industry; The term "employee" does not include:(i) Bona fide employees of a public authority or individuals engaged in making temporary or emergency repairs;(ii) Bona fide independent contractors; or(iii) Salaried supervisory personnel necessary to assure efficient execution of the employee's work;
- (3) The term "employer" means any person, firm or corporation employing one or more employees on any public improvement and includes all contractors and subcontractors;
- (4) The term "local labor market" means every county in West Virginia and any county outside of West Virginia if any portion of that county is within fifty miles of the border of West Virginia;
- (5) The term "public improvement" includes the construction of all buildings, roads, highways, bridges, streets, alleys, sewers, ditches, sewage disposal plants, waterworks, airports and all other structures that may be let to contract by a public authority, excluding improvements funded, in whole or part, by federal funds.

7. DAVIS-BACON AND RELATED ACT WAGE RATES:

The work performed under this contract is federally funded in whole, or in part. Pursuant to
, Vendors are required to pay applicable Davis-Bacon wage
rates.
The work performed under this contract is not subject to Davis-Bacon wage rates.

8. SUBCONTRACTOR LIST SUBMISSION: In accordance with W. Va. Code § 5-22-1, the apparent low bidder on a contract valued at more than \$250,000.00 for the construction, alteration, decoration, painting or improvement of a new or existing building or structure shall submit a list of all subcontractors who will perform more than \$25,000.00 of work on the project including labor and materials. (This section does not apply to any other construction projects, such as highway, mine reclamation, water or sewer projects.) The subcontractor list shall be provided to the Property and Procurement Office within one business day of the opening of bids for review. If the apparent low bidder fails to submit the subcontractor list, the Property and Procurement Office shall promptly request by telephone and electronic mail that the low bidder and second low bidder provide the subcontractor list within one business day of the request. Failure to submit the subcontractor list within one business day of receiving the request shall result in disqualification of the bid.

If no subcontractors who will perform more than \$25,000.00 of work are to be used to complete the project, the apparent low bidder must make this clear on the subcontractor list, in the bid itself, or in response to the Property and Procurement Office's request for the subcontractor list.

- a. Required Information. The subcontractor list must contain the following information:
 - i. Bidder's name
 - ii. Name of each subcontractor performing more than \$25,000 of work on the project.
 - iii. The license number of each subcontractor, as required by W. Va. Code § 21-11-1 et. seq.
 - iv. If applicable, a notation that no subcontractor will be used to perform more than \$25,000.00 of work. (This item iv. is not required if the vendor makes this clear in the bid itself or in documentation following the request for the subcontractor list.)
- b. Subcontractor List Submission Form: The subcontractor list may be submitted in any form, including the attached form, as long as the required information noted above is included. If any information is missing from the bidder's subcontractor list submission, it may be obtained from other documents such as bids, emails, letters, etc. that accompany the subcontractor list submission.
- c. Substitution of Subcontractor. Written approval must be obtained from the State Spending Unit before any subcontractor substitution is permitted. Substitutions are not permitted unless:
 - i. The subcontractor listed in the original bid has filed for bankruptcy;

- ii. The subcontractor in the original bid has been debarred or suspended; or
- iii. The contractor certifies in writing that the subcontractor listed in the original bid fails, is unable, or refuses to perform his subcontract.

Subcontractor List Submission (Construction Contracts Only)

Bidder's Name:	Harbel, Inc.		
Check this box i	f no subcontractors will perforn	n more than \$25,000.00 of work to complete the project.	
Subcontractor Name		License Number if Required by W. Va. Code § 21-11-1 et. seq.	
Little Mountain Pip	eline	WV050207	
-			
, , , , , , , , , , , , , , , , , , , ,			

Attach additional pages if necessary.

ADDITIONAL TERMS AND CONDITIONS (Architectural and Engineering Contracts Only)

- 1. PLAN AND DRAWING DISTRIBUTION: All plans and drawings must be completed and available for distribution at least five business days prior to a scheduled pre-bid meeting for the construction or other work related to the plans and drawings.
- 2. PROJECT ADDENDA REQUIREMENTS: The Architect/Engineer and/or Agency shall be required to abide by the following schedule in issuing construction project addenda. The Architect/Engineer shall prepare any addendum materials for which it is responsible, and a list of all vendors that have obtained drawings and specifications for the project. The Architect/Engineer shall then send a copy of the addendum materials and the list of vendors to the State Agency for which the contract is issued to allow the Agency to make any necessary modifications. The addendum and list shall then be forwarded to the Property and Procurement Office buyer by the Agency section. The Property and Procurement Office buyer shall send the addendum to all interested vendors and, if necessary, extend the bid opening date. Any addendum should be received by the Property and Procurement Office at least fourteen (14) days prior to the bid opening date.
- 3. PRE-BID MEETING RESPONSIBILITIES: The Architect/Engineer shall be available to attend any pre-bid meeting for the construction or other work resulting from the plans, drawings, or specifications prepared by the Architect/Engineer.
- 4. AIA DOCUMENTS: All construction contracts that will be completed in conjunction with architectural services procured under Chapter 5G of the West Virginia Code will be governed by the attached AIA documents, as amended by the Supplementary Conditions for the State of West Virginia, in addition to the terms and conditions contained herein. The terms and conditions of this document shall prevail over anything contained in the AIA Documents or the Supplementary Conditions.
- 5. GREEN BUILDINGS MINIMUM ENERGY STANDARDS: In accordance with W. Va. Code § 22-29-4, all new building construction projects of public agencies that have not entered the schematic design phase prior to July 1, 2012, or any building construction project receiving state grant funds and appropriations, including public schools, that have not entered the schematic design phase prior to July1, 2012, shall be designed and constructed complying with the ICC International Energy Conservation Code, adopted by the State Fire Commission, and the ANSI/ASHRAE/IESNA Standard 90.1-2007: Provided, That if any construction project has a commitment of federal funds to pay for a portion of such project, this provision shall only apply to the extent such standards are consistent with the federal standards.

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

David J. Madden, President

(Name, Title)
David J. Madden, President

(Printed Name and Title)
11521 Milnor Ave / PO Box 0358 Cumberland, MD 21502

(Address)
301-729-8303 / 301-729-0163

(Phone Number) / (Fax Number)
davem@thebeltgroup.com

(email address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Harbei, Inc.	
(Company)	
(Authorized Signature) (Represe	David J. Madden, President
(Authorized Signature) (Represe	entative Name, Title)
David J. Madden, President	
(Printed Name and Title of Aut	horized Representative)
07/09/2020	
(Date)	
301-729-8303 / 301-729-0163	
(Phone Number) (Fax Number)	

REQUEST FOR QUOTATION

West Virginia Division of Natural Resources Ridge Hatchery Water Supply Rehabilitation

GENERAL CONSTRUCTION SPECIFICATIONS

- 1. PURPOSE AND SCOPE: The West Virginia Division of Natural Resources is soliciting bids on behalf of Wildlife Section to establish a contract for repairs and modifications to be made to the water supply system at Ridge Hatchery located in Berkeley Springs, WV.
- 2. **DEFINITIONS:** The terms listed below shall have the meanings assigned to them below. Additional definitions can be found in section 2 of the General Terms and Conditions and in the Specification's Manual as defined below.
 - **2.1** "Construction Services" means structural and other repairs as more fully described in these specifications and the Specifications/Project Manual.
 - 2.2 "Pricing Page" means the pages contained in wvOASIS, attached hereto, or included in the Specifications/Project Manual upon which Vendor should list its proposed price for the Construction Services.
 - **2.3** "Solicitation" means the official notice of an opportunity to supply the State with Construction Services that is published by the West Virginia Division of Natural Resources.
 - 2.4 "Specifications/Project Manual" means the American Institute of Architect forms, specifications, plans, drawings, and related documents developed by the architect, engineer, or Agency that provide detailed instructions on how the Construction Services are to be performed along with any American Institute of Architects documents ("AIA documents") attached thereto.
- 3. ORDER OF PRECEDENCE: This General Construction Specifications document will have priority over, and supersede, anything contained in the Specifications/Project Manual.
- **4. QUALIFICATIONS:** Vendor, or Vendor's staff if requirements are inherently limited to individuals rather than corporate entities, shall have the following minimum qualifications:
 - 4.1 Experience: Vendor, or Vendor's supervisory staff assigned to this project, must have successfully completed at least one (1) project that involved work similar to that described in the Specifications/Project Manual. Compliance with this experience requirement will be determined prior to contract award by the State through references provided by the Vendor upon request, through knowledge or documentation of the Vendor's past projects, through confirmation of experience requirements from the architect assisting the State in this project, or some other method that the State determines to be acceptable. Vendor must provide any documentation requested by the State to assist in confirmation of compliance with this provision. References, documentation, or other

REQUEST FOR QUOTATION

West Virginia Division of Natural Resources Ridge Hatchery Water Supply Rehabilitation

information to confirm compliance with this experience requirement may be requested after bid opening and prior to contract award.

- 5. CONTRACT AWARD: The Contract is intended to provide Agency with a purchase price for the Construction Services. The Contract will be awarded to the lowest qualified responsible bidder meeting the required specifications. If the Pricing Pages contain alternates/add-ons, the Contract will be awarded based on the grand total of the base bid and any alternates/add-ons selected.
- 6. SELECTION OF ALTERNATES: Pursuant to W. Va. Code § 5-22-1(e), if the Pricing Pages contain alternates/add-ons, there must be no more than seven listed, and the alternates/add-ons will be selected in the order of priority listed on the Pricing Pages. The first alternate/add-on must be selected before the second alternate/add-on can be selected and so on, Provided, that Agency may accept an alternate out of the listed order if acceptance would not affect determination of the lowest qualified responsible bidder. Any unaccepted alternate contained within a bid shall expire one hundred fifty days after the date of the opening of bids for review.
- 7. PERFORMANCE: Vendor shall perform the Construction Services in accordance with this document and the Specifications/Project Manual.
- 8. PROJECT PLANS: Digital copies of the project plans can be obtained in pdf format by contacting the entity identified below.

WV Division of Natural Resources – PEM Rebecca Westfall

324 4th Ave. South Charleston, WV 25303 (304) 558-2764 Or via email at Rebecca. Westfall@wv.gov

No paper plans and specifications will be distributed

Copies of project plans can be examined at the following locations

Contractors Association of West Virginia

2114 Kanawha Boulevard East Charleston, West Virginia 25311 Phone: 304-342-1166 Fax: 304-342-1074

Kanawha Valley Builders Association

1627 Bigley Avenue Charleston, WV 25302 Phone: 304-342-7141 Fax: 304-343-8014

REQUEST FOR QUOTATION

West Virginia Division of Natural Resources Ridge Hatchery Water Supply Rehabilitation

Construction Employers Association NCWV

2794 White Hall Blvd White Hall, WV 26554 Phone: 304-367-1290 Fax: 304-367-0126

Parkersburg Marietta Contractors Association

2905 Emerson Avenue Parkersburg, WV 26104 Phone: 304-485-6485

Fax: 304-428-7622

- **9. SUBSTITUTIONS:** Any substitution requests must be submitted in accordance with the official question and answer period described in the INSTRUCTIONS TO VENDORS SUBMITTING BIDS, Paragraph 4. Vendor Question Deadline.
- 10. FACILITIES ACCESS: Performance of Contract Services may require access cards and/or keys to gain entrance to Agency's facilities. In the event that access cards and/or keys are required:
 - **10.1.** Vendor must identify principal service personnel which will be issued access cards and/or keys to perform service.
 - **10.2.** Vendor will be responsible for controlling cards and keys and will pay replacement fee, if the cards or keys become lost or stolen.
 - 10.3. Vendor shall notify Agency immediately of any lost, stolen, or missing card or key.
 - **10.4.** Anyone performing under this Contract will be subject to Agency's security protocol and procedures.
 - **10.5.** Vendor shall inform all staff of Agency's security protocol and procedures.

11. MISCELLANEOUS:

11.1. Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

REQUEST FOR QUOTATION West Virginia Division of Natural Resources Ridge Hatchery Water Supply Rehabilitation

Contract Manager:	Dave Madden
Telephone Number:	301-729-8303
Fax Number:301	-729-0163
Email Address:	avem@thebeltgroup.com

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: ARFQ DNR20*38

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:	
(Check the box next to each addendum)	received)
X Addendum No. 1 X Addendum No. 2 X Addendum No. 3 X Addendum No. 4 X Addendum No. 5 I understand that failure to confirm the r I further understand that any verbal repr discussion held between Vendor's repre	X Addendum No. 6 X Addendum No. 7 Addendum No. 8 Addendum No. 9 Addendum No. 10 receipt of addenda may be cause for rejection of this bid. resentation made or assumed to be made during any oral esentatives and any state personnel is not binding. Only
the information issued in writing and a binding.	added to the specifications by an official addendum is
omang.	
Harbel, Inc.	
Did J. Malde	
Authorized Signature	
07/09/2020	
Date	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

REVISED - EXHIBIT A - PRICING PAGE 1/5 Ridge Hatchery Water Supply Rehabilitation

Name of Bidder:	Harbel, Inc.
Address of Bidder:	11521 Milnor Ave PO Box 0358 Cumberland, MD 21502
Phone Number of Bidder:	301-729-8303
WV Contractors License No.	WV000349

We, the undersigned, having examined the site and being familiar with the local conditions affecting the cost of the work and also being familiar with the general conditions to bidders, drawings, and specifications, hereby proposes to furnish all materials, equipment, and labor to complete all work in a workmanlike manner, as described in the Bidding documents.

Base Bid

The Base Bid shall consist of all the work described in the Construction Documents.

All Bidders should complete the following Unit Price Sheets. All unit prices shall include the complete installed price including all necessary work, labor, supplies, materials, equipment, excavation, backfill, etc. All items not specifically enumerated in the Plans and Specifications shall be considered incidental to the project and included in the various pay items.

Unit Prices shall be used solely for the negotiations of any requested Change Orders subsequent to the award of the Contract. Any contract issued as a result of this bid will contain the amount of the base bid and any approved alternates. Incomplete Bids will be considered non-responsive. Quantities indicated on the following page(s) are best estimates of actual quantities needed. The Contract award shall be based on the lowest Total Base Bid.

Total Base Bid: Lump sum for all labor, materials, and equipment as stipulated in the Bidding Documents, written in figures.

\$1,144,644.10

Total Base Bid: Lump sum for all labor, materials, and equipment as stipulated in the Bidding Documents, written in words.

ONE MILLION, ONE HUNDRED FORTY FOUR THOUSAND, SIX HUNDRED FORTY FOUR DOLLARS AND TEN CENTS

REVISED - Exhibit A - Pricing Page 2/5 Ridge Hatchery Water Supply Rehabilitation

Name of V	endor:	Harbel, Inc.	
Date:	07/09/	2020	

The aforementioned, hereinafter called Vendor, being familiar with and understanding the Bidding Documents and also having examined the site and being familiar with all local conditions affecting the project hereby proposes to furnish all labor, material, equipment, supplies and transportation and to perform all Work in accordance with the Bidding Documents within the time set forth.

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT COST	ITEM COST
1.0	Surveying (MAX. 3% CONTRACT VALUE)	1	L\$	4,400.00	4,400.00
2.0	Quality Control and Independent Inspection/Testing (MAX. 3% OF CONTRACT VALUE)		L\$	7,700.00	7,700.00
3.0	Mobilization/Demobilization (MAX. 10% OF CONTRACT VALUE)	1	LS	86,300.00	86,300.00
4.0	General Conditions, Insurance/Bonds, Permitting (MAX 8% OF CONTRACT VALUE)	1	LS	20,200.00	20,200.00
	General Sitework				
5.0	Pipeline Demolition/Removat	1,002	LF	12.00	12,024.00
6.0	Dewatering - Site	1	LS	5,800.00	5,800.00
7,0	Tree Removal (mature), Clearing and Grubbing	0.5	AC	15,500.00	7,750.00
8.0	Tree Protection	5	EA	362.00	1,810.00
9,0	Tree Root Pruning	3	EΑ	1,100.00	3,300.00
10.0	Silt Fence	3,390	LF	3.90	13,221.00
11.0	Rock Check Dam	2	EA	482.00	964.00
12.0	Aggregate Road Demolition/Removal (12" thick)	5,247	SF	1.45	7,608.15
13.0	Aggregate Road Demolition/Removal (6" thick)	3,630	SF	1.50	5,445.00
14.0	12" Class 10 Aggregate Road	5,247	SF	2.05	10,756.35
15.0	6" Class 10 Aggregate Road	3,630	SF	1.05	3,811.50
16.0	Finish Grading	3.0	AC	4,100.00	12,300.00
17.0	Seeding	3.0	AC	2,200.00	6,600.00
18.0	Temporary Containment Fence	200	LF	49.00	9,800.00
	New Spring Collection Box				
19.0	Dewatering	10	CY	343.00	3,430.00
20.0	Excavation	9	CY	231.00	2,079.00
21.0	Demolition of existing concrete trough	1	LS	1,715.00	1,715.00
22.0	Core 8" holes	3	EA	593.00	1,779.00
23.0	Perimeter Collection Box Wall	2	CY	3,070.00	6,140.00
24.0	Footing/Slab	2	CY	1,420.00	2,840.00
25.0	Backfill & Compaction around structure	4	CY	200.00	800.00
26.0	4" Precast Concrete Hollow Core Planks	52	SF	122.50	6,370.00
27.0	4" PVC Waterstop	29	LF	2.50	72.50
28.0	Bentonite Waterstop	16	LF	4.00	64.00
29.0	Sealant	16	LF	9.50	152.00
30.0	Cut and Notch into Bedrock	94	LF	30.00	2,820.00
31.0	Dowels into existing Headwall	8	EA	36.00	288.00
32.0	24"x24" aluminum surface mount lockable access hatch	1	EA	490.00	490.00
33.0	Embedded Aluminum Screen Guides	2	EΑ	222.00	444.00

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT COST	ITEM COST	
34.0	Aluminum Screens	1	EΑ	260.00	260.00	
	Middle Dam Collection Box					
35.0	Dewatering	5	CY	995.00	4,975.00	
36.0	Excavation/Cleaning out box	1	CY	400.00	400.00	
37.0	Demo existing concrete box	1	LS	1,090.00	1,090.00	
38.0	8" Concrete Wall	2	CY	1,890.00	3,780.00	
39.0	Bentonite Waterstop	14	LF	5.50	77.00	
40.0	Dowels into existing Headwall and base slab	16	EA	26.00	416.00	
41.0	Aluminum Grating	18	SF	218.00	3,924.00	
	Pond 8 Structure					
42.0	8" Concrete Wall	2	CY	4,700.00	9,400.00	
43.0	Stoplogs	1	LS	210.00	210.00	
44.0	Embedded Aluminum Screen Guides	2	EΑ	222.00	440.00	
45.0	Aluminum Screen	1	EΑ	321.00	321.00	
46.0	Aluminum Grating	4	SF	484.00	1,936.00	
	3" Spring House Piping to House/Barn - West			<u>-</u>	<u> </u>	
47.0	Excavation	199	CY	104.50	20,795.50	
48.0	Rock Excavation	20	CY	102.00	2,040.00	
49.0	Backfill	137	CY	24.00	3,288.00	
50.0	Bedding	75	CY	38.00	2,850.00	
51,0	3" Intake Screen	1	EA	530.00	530.00	
52.0	PE C901 DR25 3" Dia	673	LF	1.80	1,211.40	
53.0	DIP MJ Fittings, 3" Dia	5	EA	169.00	845.00	
54.0	DIP MJs, 3" Dia	10	EA	46.00	460.00	
55.0	Gate Valve, 3" Dia	1	EA	945.00	945.00	
56.0	Tracer Wire	673	LF	0.50	336.50	
57.0	Connect to Existing	2	EA	1,960.00	3,920.00	
	Pressure Testing	1	LS	1,150.00	1,150.00	
	4" Spring House Piping Network - West			1,100.00	1,100.00	
59.0	Excavation	368	CY	108.50	39,928.00	
60.0	Rock Excavation	37	CY	110.00	4,070.00	
	Backfill	253	CY	23.70	5,996.10	
62.0	Bedding	138	CY	37.75	5,209.50	
	4" Intake Screen	1	EA	410.00	410.00	
	PVC C900 DR18 4" Dia	1,241	LF	2.80	3,474.80	
	DIP MJ Fittings, 4" Dia	8	EA	205.00	1,640.00	
66.0	DIP MJs, 4" Dia	15	EA	53.00	795.00	
	Gate Valve, 4" Dia	1	EA	1,019.00	1,019.00	
68.0	Tracer Wire	1,260	LF	0.45	567.00	
69.0	Jack and Bore (16" Dia)	70	LF	322.00	22,540.00	
70.0	Boring and Jacking Pit Prep	1	LS	11,750.00	11,750.00	
71.0	PE C901 DR25 3" Dia	19	LF	33.00	627.00	
	DIP MJ Fittings, 3" Dia	1	ΕA	505.00	505.00	
	DIP MJs, 3" Dia	2	EA	115.00	230.00	
74.0	Connect to Existing	2	EA	891.00	1,782.00	
	Pressure Testing	1	LS	2,300.00	2,300.00	
	6" Upper Dam Piping Network - West			_,500.00	_,555.00	
	I	 			 	
76.0	Excavation	210	CY	240.50	50,505.00	

REVISED - Exhibit A - Pricing Page 4/5 - Ridge Hatchery Water Supply Rehabilitation

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT COST	ITEM COST
78.0	Backfill	174	CY	35.00	6,090.00
79.0	Bedding	26	CY	43.00	1,118.00
80.0	6" RJ Transition Coupling	1	EA	396.00	396.00
81.0	DIP PC 53, 6" Dia.	1,045	LF	27.40	28,633.00
82.0	DIP MJ Fittings, 6" Dia	11	EA	118.00	1,298.00
83,0	DIP MJs, 6" Dia	24	EA .	47.00	1,128.00
84.0	Tracer Wire	1,045	LF	0.45	470.25
85.0	Connect to Existing	3	EA	1,600.00	4,800.00
86.0	Pressure Testing	1	LS	1,150.00	1,150.00
86.5	Jack and Bore (18* Dia)	72	LF	335.00	24,120.00
	Piping Demolition - East				
87.0	Demo 2" steel pipe	740	LF	11.00	8,140.00
88.0	Demo 3" steel pipe	55	LF	29.00	1,595.00
89.0	Demo 4" steel pipe	41	LF	23.00	943.00
90.0	Demo 6" steel pipe	563	LF	10.40	5,855.20
91.0	Demo 8" steel pipe	161	LF	20.00	3,220.00
92.0	Saw cut and patch dam wall for piping removal	1	LS	2,110.00	2,110.00
93.0	Plug pipe ends w/non-shrink grout	10	ΕA	340.00	3,400.00
94.0	Cut and cap piping to be abandoned	15	EA	517.00	7,755.00
	1.5" Upper Dam Piping to Hatchery Residence - East				
95.0	DR11 fused HDPE Pressure Pipe, 2"	240	LF	26.00	6,240.00
96.0	Miscellaneous fittings	1	LS	815.00	815.00
97.0	Pressure Testing (up to 500 LF of 1 to 4" pipe)	1	LS	1,150.00	1,150.00
	Upper Dam Piping Network - East				
98.0	6" Buried Gate Valves	3	EΑ	1,150.00	3,450.00
99.0	6" RJ Transition Coupling	2	EΑ	245.00	490.00
100.0	6" Ductile Iron Pipe	664	LF	62.00	41,168.00
101.0	Stone wall penetration excavation	44	CY	86.00	3,784.00
102.0	10" dia core drill	2	ĒΑ	420.00	840.00
103.0	6" Modular Seal	2	EA	446.00	892.00
104.0	4" Buried Butterfly Valve	2	ΕA	2,850.00	5,700.00
105.0	4" Ductila Iron Pipe	18	LF	68.00	1,224.00
106.0	8" dia core drill	2	EA	418.00	836.00
107.0	4" Modular Seal	2	EA	398.00	796.00
	3" Buried Butterfly Valve	5	EA	2,650.00	13,250.00
109.0	3" Ductile Iron Pipe	172	LF	92.00	15,824.00
110.0	7" dia core drill	3	EA	420.00	1,260.00
111.0	3" Modular Seal	3	EA	360.00	1,080.00
112.0	Spray bar & other hung piping at Ponds 9, 10	2	LS	3,330.00	6,660.00
113.0	Spray bar & other hung piping at Ponds 3, 4	2	LS	3,330.00	6,660.00
114.0	Spray bar & other hung piping at Pond 7	1	LS	3,330.00	3,330.00
115.0	Spray bar & other hung piping at Ponds 4, 5	2	LS	3,330.00	6,660.00
	Middle Dam Piping Network - East			0,000.00	5,000.00
116.0	6" Buried Gate Valves	4	ΕA	1,002.00	4,008.00
117.0	6" Ductile Iron Pipe	554	LF	88.75	49,167.50
118.0	Stone wall penetration excavation	44	CY	86.00	3,784.00
119.0	10" dia core drill	4	EA.	418.00	1,672.00
120.0	6" Modular Seal	4	EA	303.00	1,212.00
121.0	3" Buried Butterfly Valve	5	EA	2,640.00	13,200.00
. = , . 0		<u> </u>	L -/,	=,= :0.00	1,=

REVISED - Exhibit A - Pricing Page 5/5 - Ridge Hatchery Water Supply Rehabilitation

ITEM	DESCRIPTION	QUANTITY	UNIT	UNIT COST	ITEM COST
122.0	3" Ductile Iron Pipe	454	LF	87.60	39,770.40
123.0	7" dia core drill	4	EA	420.00	1,680.00
124.0	3" Modular Seal	4	EA	360.00	1,440.00
	Lower Dam Piping Network - East				
125.0	8" Buried Gate Valves	1	EΑ	3,545.00	3,545.00
126.0	8" Ductile Iron Pipe	161	LF	73.65	11,857.65
127.0	Stone wall penetration excavation	22	CY	86.00	1,892.00
128.0	12" dia core drill	2	EA	418.00	836.00
129.0	8" Modular Seal	2	EA	435.00	870.00
	Pond Drain Piping - East			·	
130.0	8" Ductile Iron Pipe	45	LF	85.00	3,825.00
131.0	6" Ductile Iron Pipe	48	LF	107.60	5,164.80
132.0	4" Ductile fron Pipe	5	LF	195.00	975.00
133.0	Connect to Existing	3	EA	1,040.00	3,120.00
134.0	12" dia core drill	1	EA	505.00	505.00
135.0	8" Modular Seal	1	EA	435.00	435.00
136.0	10" dia core drill	3	EA	330.00	990.00
137.0	6" Modular Seal	3	ΕA	303.00	909.00
138.0	4" Shear Gate Valve	1	EA	1,640.00	1,640.00
	Automatic Samplers				
139.0	Refrigerated Samplers	3	EA	13,675.00	41,025.00
140.0	Portable Sampler	. 1	EA	12,650.00	12,650.00
•	Flow Measurement				
141.0	Submerged Area Velocity Meter	5	LS	20,100.00	100,500.00
142.0	Piping Modifications (007, 010, 011)	3	EA	1,000.00	3,000.00
143.0	Piping Modifications (008)	1	EA	1,650.00	1,650.00
144.0	Radar Meter (009)	1	EA	31,320.00	31,320.00
145.0	Manhole & Piping Modifications (009)	1	EA	13,150.00	13,150.00
	Electrical				
146.0	Electrical For Sampler Pond 9	1	LS	12,390.00	12,390.00
147.0	Electrical For Sampler Pond 8	1	LS	9,475.00	9,475.00
148.0	Electrical For Sampler at Pond 28	1	LS	55,690.00	55,690.00
149.0	Outlet Replacement, Ponds 2, 3, 7, & 8	1	LS	12,550.00	12,550.00
	Other				
150.0	All other costs and work not included in Items above	1	LS	3,900.00	3,900.00
		TOTAL BID AMOUNT		1,144,64	4.10

Incomplete bids will be considered non-responsive. If estimated quantities are listed, Bidders must only bid estimated quantities listed. These quantities indicated are the Government's best estimate of actual quantities needed to complete the work. Payment will be made for actual amount of work done on the basis of unit or lump sum prices listed.

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

CONSTRUCTION CONTRACTS: Under W. Va. Code § 5-22-1(i), the contracting public entity shall not award a construction contract to any bidder that is known to be in default on any monetary obligation owed to the state or a political subdivision of the state, including, but not limited to, obligations related to payroll taxes, property taxes, sales and use taxes, fire service fees, or other fines or fees.

ALL CONTRACTS: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that: (1) for construction contracts, the vendor is not in default on any monetary obligation owed to the state or a political subdivision of the state, and (2) for all other contracts, that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

WITNESS THE FOLLOWING SIGNATURE:

Vendor's Name: Harbel, Inc.				-
Authorized Signature: 8 1. Module		_Date: _	07/09/2020	MINIMUM,
State of West Virginia			š	OF A WALTERING
County of Morgan , to-wit:			"muning	MILANTON
Taken, subscribed, and sworn to before me this 9th day of _	July		, 20_20	NOBLIC /P
My Commission expiresJanuary 23	_, 20 <u>23</u>		ı	THE TOWN COUNTY HILL
	0			The state of the s

AFFIX SEAL HERE

NOTARY PUBLIC States Waltermie

Purchasing Affidavit (Revised 01/19/2018)



Construction Bid Submission Review Form

This list has been provided for informational purposes only end is not to be construed as a complete list of request for quotation or bidding requirements for any individual construction project. This list does not and cannot include every item, mistake or oversight that could cause a contractor's bid to be disqualified. Rather, this list is intended to draw attention to some of the most common problems that the Purchasing Division encounters in the bidding process for construction projects. All potential bidders must read the request for quotation, all additional documents, and all instructions relating thereto ("Bid Documents") in their entirety to identify the actual request for quotation and bidding requirements. Failure to read the Bid Documents in their entirety and comply with the stated requirements contained therein may result in bid disqualification.

Errors That Shall Be Reason for Immediate Bid Disqualification

- 1. Failure to attend a mandatory pre-bid meeting
- 2. Failure to sign the bid
- 3. Failure to supply West Virginia contractor's license# on bid
- 4. Failure to supply a signed drug free workplace affidavit with the bid
- 5. Failure to supply a valid bid bond or other surety approved by the State of West Virginia
- 6. Failure to meet any mandatory requirement of the RFQ
- 7. Failure to acknowledge receipt of Addenda (only if stipulated as mandatory)
- 8. Failure to submit bid prior to the bid opening date and time
- 9. Federal debarment
- 10.State of West Virginia debarmentor suspension

Errors that May Be Reason for Bid Disqualification Before Contract Award

- 1. Uncontested debt to the State exceeding \$1,000.00 (must becured prior to award)
- Workers' Compensation or Unemployment Compensation delinquency (must be cured prior to award)
- 3. Not registered as a vendor with the State (must be cured prior to award)
- 4. Failure to obtain required bonds and/or insurance
- 5. Failure to provide the sub-contractor listing within 1 business day of bid opening.
- 6. Failure to use the provided RFQ form (only if stipulated as mandatory).

BID BOND PREPARATION INSTRUCTIONS

					AGE	NCY_(A)
					RFQ/RFP#	(B)
(1)	11/41 00-4-1	*** v.=		Bid Bond		
(A)	WV State Agency (Stated on Page 1 "Spending Unit")	KNOW	ALL MEN BY THESE I	PRESENTS, That we, the	e undersigned, (E)	
(B)	Request for Quotation Number (upper right	as Principal, and	of (F)	of of	(G)	
` /	comer of page #1)	(H)	, a corpora	tion organized and existi	ng under the laws	
(C)	Your Business Entity Name (or Individual	of the State of	(I)	with its principal office	in the City of	
(D)	Name if Sole Proprietor) City, Location of your Company	of West Virginia a	, as Surety s Obligee, in the penal su	are held and firmly bou	nd unto The State	
(E)	State, Location of your Company		s Congee, in the penal su) for the pa			
(F)	Surety Corporate Name	we jointly and seve	rally bind ourselves, our	neirs, administrators, exe	ecutors,	
(G)	City, Location of Surety	successors and assi	gns.			
(H)	State, Location of Surety	T 0	Pol Ad C AD	2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	al man in the	
(I) (J)	State of Surety Incorporation City of Surety's Principal Office		ndition of the above oblig tion of the Department of			
(K)	Minimum amount of acceptable bid bond is	and made a part he	reof to enter into a contra-	Addininistration a certain	i oiu oi proposai, attac	neu nereto
` '	5% of total bid. You may state "5% of bid"					
	or a specific amount on this line in words.			(M)		
(L) (M)	Amount of bond in numbers Brief Description of scope of work					
(N)	Day of the month			· · · · · · · · · · · · · · · · · · ·		
(O)	Month	NOW T	HEREFORE			
(P)	Year					
(Q)	Name of Business Entity (or Individual Name	(a)	If said bid shall be rejo			
(R)	if Sole Proprietor) Seal of Principal	(b)		ccepted and the Principa		
(S)	Signature of President, Vice President, or		e bid or proposal attached For proposal, and shall in			
(~)	Authorized Agent		bid then this obligation			
(T)	Title of Person Signing for Principal	remain in full force	and effect. It is express	ly understood and agree	d that the liability of	the Surety
(U)	Seal of Surety		ims hereunder shall, in n	o event, exceed the pen	al amount of this of	ligation as
(V) (W)	Name of Surety Signature of Attorney in Fact of the Surety	herein stated				
(**)	Signature of Attorney in Pact of the Surery	The Sur	ety for value received,	nereby stimulates and ac	recs that the obligation	one of eaid
			shall be in no way impai			
OTE 1:	Dated Power of Attorney with Surety Seal	Obligee may accep	t such bid: and said Suret	does hereby waive noti	ce of any such extens	ioπ.
	must accompany this bid bond.	II II II	TEGG J CH : :			
			NESS, the following sign officer of Principal and			
		individual, the (N)day of(O)	. 20 (P) .	ii individually ii Filii	cipai is an
			_ /	, -		
		Principal Seal			(Q)	
			(R)	1)	Name of Principal)	
			(K)	By	(S)	
					nt, Vice President, or	
				Duly Authorize		
					(T)	
					Title	•
					* *****	
		Surety Seal			<u>(V)</u>	
			(U)		(Name of Surety)	
					(W)	
					Attorney in Fact	

 $IMPORTANT-Surety\ executing\ bonds\ must\ be\ liceused\ in\ West\ Virginia\ to\ transact\ surety\ insurance,\ must\ affix\ its\ seal,\ and\ must\ attach\ a\ power\ of\ attorney\ with\ its\ seal\ affixed.$

				Agency REQ.P.O#
		BID	BOND	
KNO	W ALL MEN DV THESE			Harbel, Inc.
of	Cumberland	PRESENTS, That we, the Maryland		, as Principal, and Fidelity and Deposit Company
	Cumberland			organized and existing under the laws of the State of
Maryland	with its principal offi	ce in the City of Owings I	ATT	, as Surety, are held and firmly bound unto the State
of West Virgin	ia, as Obligee, in the per	nal sum of Five Percent of the	Total Bid Amo	unt (\$ 5% of the Total Bid) for the payment of which,
well and truly	to be made, we jointly ar	nd severally bind ourselves,	our heirs, adı	ministrators, executors, successors and assigns.
The	Condition of the above	obligation is such that wh	ereas the Pri	incipal has submitted to the Purchasing Section of the
	Administration a certain dge Hatchery Water S		nereto and ma	de a part hereof, to enter into a contract in writing for
DN	IR2000000038			
the agreement full force and devent, exceed The Seway impaired waive notice of WITN	to and shall furnish any of created by the acceptare effect. It is expressly unthe penal amount of this surety, for the value receor affected by any extension. IESS, the following signal	accepted and the Principal other bonds and insurance once of said bid, then this objects of and agreed that a obligation as herein stated eived, hereby stipulates and nation of the time within whereby of the siven of the time within whereby stipulates and the siven of the time within whereby stipulates and the time within whereby stipulates and the siven of the time within whereby stipulates and the siven of the siven within whereby stipulates and the siven of the sive	required by the digation shall the liability of line. If agrees that hich the Obligual and Surety,	into a contract in accordance with the bid or proposal ne bid or proposal, and shall in all other respects perform be null and void, otherwise this obligation shall remain in the Surety for any and all claims hereunder shall, in no the obligations of said Surety and its bond shall be in no see may accept such bid, and said Surety does hereby executed and sealed by a proper officer of Principal and July, 20_20
Principal Seal				Harbel, Inc. (Name of Principal) By Moll (Must be President, Vice President, or Duly Authorized Agent) President (Title)
Surety Seal				Fidelity and Deposit Company of Maryland (Name of Surety)

IMPORTANT – Surety executing bonds must be licensed in West Virginia to transact surety insurance, must affix its seal, and must attach a power of attorney with its seal affixed.

EXTRACT FROM BY-LAWS OF THE COMPANIES

"Article V, Section 8, <u>Attorneys-in-Fact</u>. The Chief Executive Officer, the President, or any Executive Vice President or Vice President may, by written instrument under the attested corporate seal, appoint attorneys-in-fact with authority to execute bonds, policies, recognizances, stipulations, undertakings, or other like instruments on behalf of the Company, and may authorize any officer or any such attorney-in-fact to affix the corporate seal thereto; and may with or without cause modify of revoke any such appointment or authority at any time."

CERTIFICATE

I, the undersigned, Vice President of the ZURICH AMERICAN INSURANCE COMPANY, the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, and the FIDELITY AND DEPOSIT COMPANY OF MARYLAND, do hereby certify that the foregoing Power of Attorney is still in full force and effect on the date of this certificate; and I do further certify that Article V, Section 8, of the By-Laws of the Companies is still in force.

This Power of Attorney and Certificate may be signed by facsimile under and by authority of the following resolution of the Board of Directors of the ZURICH AMERICAN INSURANCE COMPANY at a meeting duly called and held on the 15th day of December 1998.

RESOLVED: "That the signature of the President or a Vice President and the attesting signature of a Secretary or an Assistant Secretary and the Seal of the Company may be affixed by facsimile on any Power of Attorney...Any such Power or any certificate thereof bearing such facsimile signature and seal shall be valid and binding on the Company."

This Power of Attorney and Certificate may be signed by facsimile under and by authority of the following resolution of the Board of Directors of the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY at a meeting duly called and held on the 5th day of May, 1994, and the following resolution of the Board of Directors of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at a meeting duly called and held on the 10th day of May, 1990.

RESOLVED: "That the facsimile or mechanically reproduced seal of the company and facsimile or mechanically reproduced signature of any Vice-President, Secretary, or Assistant Secretary of the Company, whether made heretofore or hereafter, wherever appearing upon a certified copy of any power of attorney issued by the Company, shall be valid and binding upon the Company with the same force and effect as though manually affixed.

IN TESTIMONY WHEREOF, I have hereunto subscribed my name and affixed the corporate seals of the said Companies, this 9th day of July 2020







Brian M. Hodges, Vice President

TO REPORT A CLAIM WITH REGARD TO A SURETY BOND, PLEASE SUBMIT A COMPLETE DESCRIPTION OF THE CLAIM INCLUDING THE PRINCIPAL ON THE BOND, THE BOND NUMBER, AND YOUR CONTACT INFORMATION TO:

Zurich Surety Claims 1299 Zurich Way Schaumburg, IL 60196-1056 www.reportsfclaims@zurichna.com 800-626-4577

ZURICH AMERICAN INSURANCE COMPANY COLONIAL AMERICAN CASUALTY AND SURETY COMPANY FIDELITY AND DEPOSIT COMPANY OF MARYLAND POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That the ZURICH AMERICAN INSURANCE COMPANY, a corporation of the State of New York, the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, a corporation of the State of Illinois, and the FIDELITY AND DEPOSIT COMPANY OF MARYLAND a corporation of the State of Illinois (herein collectively called the "Companies"), by Robert D. Murray, Vice President, in pursuance of authority granted by Article V, Section 8, of the By-Laws of said Companies, which are set forth on the reverse side hereof and are hereby certified to be in full force and effect on the date hereof, do hereby nominate, constitute, and appoint Michael FETCHERO, Brian E. MCCLOSKEY, Marla K. MAYLES, Edward R. SEWARD, Lisa WINCHESTER, Shelley MCCABE, Kayla D. MCCULLOUGH, Chelsea L. MARTIN, Aaron N. SMITH, Letha LOMBARDI and Lori CELANO, all of Cumberland, Maryland, EACH, its true and lawful agent and Attorney-in-Fact, to make, execute, seal and deliver, for, and on its behalf as surety, and as its act and deed: any and all bonds and undertakings, and the execution of such bonds or undertakings in pursuance of these presents, shall be as binding upon said Companies, as fully and amply, to all intents and purposes, as if they had been duly executed and acknowledged by the regularly elected officers of the ZURICH AMERICAN INSURANCE COMPANY at its office in New York, New York, the regularly elected officers of the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY at its office in Owings Mills, Maryland., and the regularly elected officers of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at its office in Owings Mills, Maryland., in their own proper persons.

The said Vice President does hereby certify that the extract set forth on the reverse side hereof is a true copy of Article V, Section 8, of the By-Laws of said Companies, and is now in force.

IN WITNESS WHEREOF, the said Vice-President has hereunto subscribed his/her names and affixed the Corporate Seals of the said ZURICH AMERICAN INSURANCE COMPANY, COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, and FIDELITY AND DEPOSIT COMPANY OF MARYLAND, this 18th day of September, A.D. 2019.







ATTEST: ZURICH AMERICAN INSURANCE COMPANY COLONIAL AMERICAN CASUALTY AND SURETY COMPANY FIDELITY AND DEPOSIT COMPANY OF MARYLAND

By: Robert D. Murray
Vice President

Dawn E. Brown

Secretary

State of Maryland County of Baltimore

On this 18th day of September, A.D. 2019, before the subscriber, a Notary Public of the State of Maryland, duly commissioned and qualified, Robert D. Murray, Vice President and Dawn E. Brown, Secretary of the Companies, to me personally known to be the individuals and officers described in and who executed the preceding instrument, and acknowledged the execution of same, and being by me duly sworn, deposeth and saith, that he/she is the said officer of the Company aforesaid, and that the seals affixed to the preceding instrument are the Corporate Seals of said Companies, and that the said Corporate Seals and the signature as such officer were duly affixed and subscribed to the said instrument by the authority and direction of the said Corporations.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed my Official Seal the day and year first above written.

S COUNTY OF THE PROPERTY OF TH

Constance A. Dunn, Notary Public My Commission Expires: July 9, 2023

Constance a. Dunn



State of West Virginia DRUG FREE WORKPLACE CONFORMANCE AFFIDAVIT West Virginia Code §21-1D-5

STATE OF WEST VIRGINIA,

coı	UNTY OF Morgan	_, TO-WIT:
I, _	David J. Madden	, after being first duly sworn, depose and state as follo
1.	I am an employee of	Harbel, Inc. ; and,
2.	I do hereby attest that _	(Company Name) Harbel, Inc.
		(Company Name) for a drug-free workplace policy and that such plan and with West Virginia Code §21-1D.
The	above statements are swo	rn to under the penalty of perjury.
		Printed Name:David J. Madden
		Signature: Zil J. Madden
		Title: President
		Company Name: Harbel, Inc.
		Date:07/09/2020
Tak	en, subscribed and sworn to	o before me this 9th _day of July
Ву	Commission expiresJanua	ary 23, 2023
(Se	al)	(Notary Public)

Rev. July 7, 2017